1o

T}3HA] A, B tioto] A+ 3B =2x2 —Tx—1, B—A = 2x% —5x—7
o, A+ B=?

@—x+3 @ x-3 ® x2+x+3

@ x*-x-3 ® x2-x+3

A=-x24+2x+5 B=x*-3x-2
A+B=(-x>+2x+5)+(x*-3x-2)=-x+3

A+3B=2x*-7Tx-1
B-A=2x>-5x-17




TFHA] (42 + 24— 3)(3 + x + &) O HAHACIA AAHeo] A7 15
Qw44 k] ghe?




3. 3(4x+5m) =P, 6(8x+ 10m) E?

O 2P @410 ® 6P @ 8P ® 18P

6(8x+ 10m) = 6 - 2(4x + 51) = 4 - 3(4x + bmr) = 4P




T oA 2 4 ax-2,0 4+ 34+ 59 ARFHSTF x-19 ), F A5
a.b9 B a+bol gL

@3 @-1 80 @ 1 ® 3

S8 ~
HfZFp7t x - 10]B2 Z47Ee] Alof x = 1-& W YSHH 09]
Hrt,

1+a-2=0,14+3+b=0°1"a=1b=-4
~a+b=-3




A x, yol st x+y+ (xy—1)i =2+ o »* +y* 2] F127

@D 4 @ 2 @1 @0 ® -1

x+y=2, xy—-1=1 .. xy=2

x4yt =(x+y)?2-2xy=0
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A

PEEA x2 —mx + 2m + 1

1

o

6.

@ 2 ®0

@ 3

B

X2 —mx+2m+1=009]
l1-m+2m+1=0

X +2x-3=0,

Som= =2

(x+3)(x-1)

0




7. 3<x<12, 1<y<3 < x—y 2 HE?

D 4<x-y<15 @ -3<x-y<12
(@)OSx—ysll @ 3<x-y<36

® 3<x-y<40

3<x<12, 1<y<3E x-yol HYstH
3-3<x-y<12-1




HEA 1 <-2x+1<3 9 3&?

D -2<x<2 @ -2<x<-1 @—1<x<1

@ -1<x<?2 ® 1<x<?2

B

-1<-2x+1<3
-1<-2x+1 x<1
=
-2x+1<3 x> -1

L-l<x<1




A 2x2 -3x-2=a(x-1)(x = 2) + bx(x - 2) + cx(x - 1) 7} x gkl
YAl P AHE W, = a+b+cof w27

@ -2 @ -1 ® 0 @ 1 @2

-2 =2a a=-—
oplel] x = 12 sk
-3=-b b=

FH x =2E tHYsHH
0=2c ..c=0




10. (140 € 7k2?

@ 10-i @ 4i ® 8i @ 16i ®)32i

(1 +i)10 = {(1 +i)2}5 = (1 +2i+i2)5
= (20)°=2°i5 =32




11. x=V3+2i,y= V3-2i & o], x> + xy +y? o] g& F5HH? (,

i=+vV-1)
@s @ 7 ® 23 + 4i
@ 12 ® 124 2V3i

x+y=2v3,

xy=(V3+2)(V3-2i)=3-4i2=70]E2
X rxy+yP=(x+y)?2-xy=12-7=5 0|t}
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1 - 3
®y=§x2+x—1:x=—1%_‘“ﬂ, 3‘45’3&—5

1 i 2
@ y=_§x2_x_2:>x=—1‘éfq1, Zﬂ%ﬁ—g

1 - 2
@y =-3+20-12 = A, Aot
@ y=2x>+12x=>x=3 4 o, TG -3

® y=-4br-5=x=> A Hugt -

[\)

B

1 1 3
@y=§x2—|—x—1:§(x+1)2—§
> x=-19 1, Mgt -
1 1
@y:—axz—x—2:—§(x+1)2—g

= x=-12 0, Ak

@y=2x2+12x=2(x+3)2-18
=x=-3 4 o, g -18
2

5 - )
> =2 Q) A 2




1< 4 9] MIONA B4 7 (1) = 22202 O] UG} 2egre]

29

ok

@9 @ 10 () 11 @ 12 ® 13

Hege x=14 uf10]3,
A x =4 4 o, 10 o},
b g H ke 2 10+ 1 =11




ARPEAA (x - 1)(x - 2)(x - 3) = 249] BE AT FL?

o1 @ ® 6 @ 7 ® 8

(x=1)(x=2)(x-3) =245 H7/l5IH

X2 —6x2+11x-30=0

x =55 ot JHstE = ZHAH-E o]-8-oto] Qla=aliot
o

-

5 |1 -6 11 =30
5 -5 30
0

1 -1 6

(x=5)(x*-=x+6)=0

L x=5EFtEx=

webd, 2L sMolnE Ao e solct,




15. ohg4] f(n)E A g(x) & e $2 0(x) , HHAE R o &
o




D)2/(1) - £(2) @ 2{f(1)+ £(2)}
® 2(1) + £(2) @ 4{f(1)+£(2)}
® 4{f(1)-r(2)}

B

f(x) = (x* = 3x+2)Q(x) +ax+b

=

=(x-1)(x-2)0(x) +ax+b
R(x) =ax+b, R(0)=0
fQ)=a+b, f(2)=2a+0b
2f(1) - f(2)=b




® 5

f(x) = a(x—a)(x - B) = 0(a # 0) A
fGx=T)=a(bx-7-a)(bx-7-8)=0
Lbhx=T74a, T+

L _Tta T+

5 5

wWetd, Pohe £ 2o gL
l4+a+p 20

5 5

=4




18.

OJAYAHA ¥ -3x-1=09 F ZLa,pt
(Hha>pB)

© -Vi3 @ -5

@ 5 ONE

< o,

R+

e

1o
2l

rlo

B

Tt A5l AN @+ =3, af = -1
(@-B)?*=(a+p)*-4ap=9+4=13
La-B=VI3( a>p)

p-a -V13

1
R R

QI+







20.

FolAt A ax? +4x+2 =0, x> +ax+1 =0 °] 23
FEDE ZES o1 A% a o) A0S FoHU)

7 5 1
o-2 o-; @5 o o-

shitel

| ot

TeT=125tH
a? +4t+2=0---Q
P4+at+1=0---©
D-Ox2:(a-2)P+(4-2a)t=0
(@a=2)t(t-=2)=0
ojm, a =2 0| F A NE ZOH=T g2
989 r=0°]d A, ©2 sf7} EAstA] gFoenE =2
et ©ollA 2a +5 =0

5

La=——
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